Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 1000 100 10
54 0,0054 54 000 5400 540
100 0,01 100 000 10 000 1000
41 0,0041 41 000 4100 410
44 0,0044 44 000 4 400 440
49 0,0049 49 000 4900 490

X 0,01 0,001 10 0,0001

6 0,06 0,006 60 0,0006
70 0,7 0,07 700 0,007
66 0,66 0,066 660 0,0066
13 0,13 0,013 130 0,0013
46 0,46 0,046 460 0,0046
X 100 0,1 1 000 10 000
90 9000 9 90 000 900 000
69 6900 6,9 69 000 690 000
73 7 300 7,3 73 000 730000
33 3300 3,3 33000 330 000
75 7 500 7,5 75000 750 000
X 10 000 0,001 100 0,1

1 10 000 0,001 100 0,1
98 980 000 0,098 9800 9,8
62 620 000 0,062 6 200 6,2
27 270 000 0,027 2700 2,7
74 740 000 0,074 7 400 7,4
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